IDENTITY FUNCTION  f(x) =x

Domain: (—oo, ) Range: (—oo, )
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SQUARING FUNCTION  f(x) = x?

Domain; (—0o, ) Range: [0, )

CUBING FUNCTION  f(x) = x°

Domain: (—oo, ) Range: (—, )

SQUARE ROOT FUNCTION  f(x) = Vx
Domain: [0, ) Range: [0,)

fx)=x

CUBE ROOT FUNCTION  f(x) = Vx

Domain: (—o°, ) Range: (=00, 0)

flx) = A

ABSOLUTE VALUE FUNCTION  f(x) = ||

Domain: (—,®) Range: [0, )

o fx) = |x|
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GREATEST INTEGER FUNCTION  f(x) = [x]

Domain; (—o0, )
Range: {x|xis an integer} = {...,—3,-2,-1,0,1,2,3,...}

Jfx) = [x]

Dot mode
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RECIPROCAL FUNCTION  f(x) = ~

Domain: (—,0) U (0,) Range: (—,0) U (0,)
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RATIONAL FUNCTION  f(x) =

Domain; (—,0) U (0, ») Range: (0, )

fo =L

o5

ROOT FUNCTION, n EVEN  f(x) = Vx
Domain: [0, ) Range: [0, =)

y=Vx y=x

ROOT FUNCTION, » ODD  f(x) = Vx

Domain: (—co, ) Range: (—o, %)
y
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EXPONENTIAL FUNCTION f(x) =a*, a>1
Domain: (—o, ) Range: (0, )

y fx)=a",a>1
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fx)=a* a>1

EXPONENTIAL FUNCTION f(x) =a*, 0<a<l1
Domain: (—oo, ) Range: (0, )

fx)=a* 0<ax<!
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fx)=a*, 0<a<1
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LOGARITHMIC FUNCTION  f(x) = log,x, a>1
Domain: (0, ) Range: (—,%)
y

P — f(x) =log,x, a>1
= log, ¥,
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LOGARITHMIC FUNCTION  f(x) = log,x, 0<a<l1

Domain: (0, ) Range: (—, )
y
fx) =log,x, 0<ax
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f(x)=log,x, 0<a<1




SINE FUNCTION  f(x) = sinx

COSINE FUNCTION  f(x) = cosx

Domain: (—0, %) Range: [—1,1] Domain: (—,®) Range: [—1,1]
f(x) =sinx f(x) =cosx
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f(x) =sinx, -2 <x <27 fx)=cosx, 2w <x <27 ’_4
TANGENT FUNCTION f(x) = tanx COTANGENT FUNCTION  f(x) = cotx
Domain: {x |x # (2n + 1)7, where n is an integer} Range: (—o, ) Domain: {x|x # na, where 7 is an integer} Range: (—o=, x)
5 y
f(x) =tanx f(x) =cotx
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Dot mode f(x)=cotx, 0<x < Dot mode

SECANT FUNCTION  f(x) = secx

Domain: {x|x # (2n + 1)7, where nis an integer}
Range: (—o, —1] U [1, %)
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f(x) =secx
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f(x) =secx, 2w <x <2mw

Dot mode

COSECANT FUNCTION  f(x) = cscx

Domain: {x|x # nr, where n is an integer}
Range: (—o, —1] U [1,)
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f(x) =csex, 2w <x <2




